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SEQ EFE 200 i 1EE | 2@EB [ R\ | &

1 NEIECES VS LIY | Friomigss7 | 37.230[ 35.805] 37.230 6
2 iSRS HE¥I H4F5 | TurtkigH57 | 36.415] 35.810[ 35.810 8
3 HMEBHE 797 UaoRYy| T i higor59 7.590[ 38 950 38.950 5
4 HES Ef HFT Tk | 44.855] 42 905 44. 855 2
5 AL FRy FhT | RE—/K@HST | 44 715] 43.600] 44.715 3
6 HIEE 7AX 2393 |[RIR—YHSTKENKEN] 46.685] 47.445[ 47.445 1
7 B F T 8h/ TN | ToFEEkEIST 7.935] 33 845] 33 845 9
8 = EE 5h/ FLr | TuEZE#ES37 | 36.105] 36.040] 36.105 7
9 GE FTHYE aoF | RE—/8H5T | 39.240] 26. 980 39.240 4
10 B FiE L5 BIF% | U kigs57 | 32.0500 31.585] 32.050 10
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SEQ EF 4 29 i 188 | 288 | BLVA | B

1 it BE AFLT AR | 7o k8957 | 40.130] 40.320] 40.320 7
2 fiF Tic AFS /va | &RFBRAFSST | 8.875] 44.475] 44,475 2
3 RE ik 7HE X435 | 2RFRAESZI | 42 405 42.575] 42 575 4
4 fhEE ki FHY TAU [RR—YHSTKENKEN 43.785] 44.110] 44.110 3
5 XE BR R53AY axF | 7or kRS D | 46.345] 44.940[ 46.345 1
6 L ES LZYX Uk | 77 kigs57 | 425300 413400 42530 5
7 BH D #HR 23 | sy kigs57 | 38.540] 39.530] 39.530 8
8 HE % Ef =4+ | Z 4 kiE557 | 39.650] 40.500] 40.500 6
9 o— 37 o— 57 T kY57 | 37.255] 37.750[ 37.750 9

EFA RWA | IELL
EEE 47.445 i
HES 44.855 2
Az 44715 3
hEER 39.240 4
MFEBH= 38.950 5
BH EREX 37.230 6
BEHEE 36.105 7
s s o 35.810 8
EHBR 33.845 9
HE =i 32.050 10
EFH RWA | JIEAL
= 2% 46.345 i
fim J3ie 44475 2
bR SkiE 44110 3
RE w 42575 4
I 23 42530 5
HE WE 40500 6
mHt BE 40.320 7
E¥ 0 39.530 8
o— =7 37.750 9




